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This means her weights x ratings for each criterion. 

(In this graph her weights never change.)

Here is Rosie’s exact 
decision score for Alternative C.

If you just look at the decision score, Alt A is the winner.

But Alt B is within the ‘zone of persuasion.’*

*What is the ‘zone of persuasion?’ The purple bar take Rosie’s weights and then multiplies them 
across the range of Committee wide, non-extreme ratings. So if Rosie kept her weights but was 

persuaded to change all her ratings downwards, her decision score would move to the left end of the 
purple box. (And if she rated up, her decision score would move to the top of the green box.) You can 

see, then, that Rosie’s ratings don’t have to change much to pull B to the front.

Pulling Alt C ahead of A or B is 
not in the zone of persuasion!



Rosie’s Contribution Graph
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What contributed to Rosies Decision Scores?

Cost

Environment

Feasibility

Reliability

Resilience

To pull B ahead of A for Rosie’s weights, you might want to find ways 
to increase the rating for ‘Reliability’—convince her to change her ratings 
or you could design in some aspects that would improve B’s reliability. 

To pull C ahead… lots of work! But concentrating on ‘Environment’ and 
‘Feasibility’ would be a good start.


